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gl-"

dbx D FCE

« dbx program_name
— program_name®D T AG S L DT /NI E1TS
- AR TN\VTETIBE, —g AT avER
[+ TaV A ILETS
— {51 : CC —g —o sample sample.cc
dbx ./sample



E RGO R(1)

run
- TS LEETTS

runargs <args>

—- RITRO5IHZEET S

runargs

- REDSI#ZEIITIT S

stop at <line>

~ BELETEB<line>IZTL—ORAUNERET S
stop in <func>

~ BEEL-BE#<func>ZTL—ORAUMMIERET S



EARGZa<UR(2)

cont
- TL—I9RAVMETTAT S LEEFTL, 5
1t9 %

Ferun
—- OS5 LEZNLETT S
next

- O S LEIIKRETRDITEETT S
next <n>
— nextF<n>[E#EL IR T




Y. N: 1) ym e @V NK)
step
— AT SLEIRETRODITEETT S
— RDITHEHLES, TOREEIZAS

step <n>

— stepZ<n>[El#EL) R T

dump

- BRAEOEBOETOO—NILERERTTS
print <exp>

— <exp>NEZRTRT S



EARMAZaTUR(4)

up

- 12 L DB FZES
up <n>

— <n>{E L DERIZFZE)
down

~ 1D T ORERIZFZED
down <n>
—<n>E T DBEZIZFZE)



dbx D=L (D)

e OVIINAIL
— TINVTHEITIEEIZ, —gA TLarvEzFIFTcarg
IVEITD
o TINVHDEE)
— dbx ./TPCBenchmark
« EITT7AILESIBDFERR
— (dbx) debug
— Debugging: TPCBenchmark
 Debugging: 7RJ5.L% 15|15 FE2518 --- &LVD&
RTINS
- ZOHITIE, SIFITEFEESNTLRL
« 5IHIDETE
— (dbx) runargs ket ../tpc-c/tpc.config.3000 0 1 3000 1
 runargs FE15|8 2513 ---ELVWDEIITAANT S




dbx DFELYA(2)
o EITIT7AILESIEDTESR
— (dbx) debug

— Debuggin: TPCBenchmark kel ../tpc-c/tpc.config.3000
0130001

« BIBMNEESINTLSI LA OIS
« JL—URAUIDERTE
— (dbx) stop in main
— (2) stop in main
e manBABKICA-1=,ZATTOYTSLMNEILETDESIZETE
- JRYUSLDET

— (dbx) run
— stopped 1n main at line 33 1n file “TPCBenchmark.cc”
— 33 If(argc 1= 7){

« T7AYSLEEFTL, MYDITL—IRA2+THAmainfEEk
[CAD=ECATEILETS



dbx D {ELVFF(3)

« O—NIILEHDORTR
— (dbx) dump
— argv = Oxfffff 7538
—1b=0
—mpl=0
— set_timer_request_1 arg = 2147478097
— open_flag=0
— new_order_tp=-1
— part_name =""
— payment tp =0
— heap _reg_arg = STRUCT
— result = (nil)
— host = (nil)
— arg = STRUCT



dbx D=L (4)

—argc =7

— stock level tp=0

— order_status tp=0

— delivery tp=0

— cInt = (nil)

— result_info = 0x1000551cc
« MaNBIMITHEON TS EHBLENTRTREIND

EELE-EZE#MORT

— (dbx) print argv[1]

— argv[ 1] = OxfTf7 11859 “kei”
. argv[1]DIEZEFT K~

« HELEZEMDRAUZLEDT, RAVEADFHELERTEIN
2



dbx D {ELVFF(5)

- JRYSLDORR

— (dbx) list

— 33 if(argc !'=7){

— 34  fprintf(stderr, "Usage: %s host_name
configure_name database open period
transaction_number mpl¥n", argv[0]);

— 35  exit(0);

- 36 }

— 37 char* host = argv[1];

— 38 /] Create RPC Client

— 39 CLIENT* cint;

— 40 cInt =clInt_create(host, SERVERPROG,
SERVERVERS, "tcp");

— 41 if (cInt == (CLIENT *) NULL) {

— 42  cInt_pcreateerror(host);

- BEFLLTWSIGEMmNLTAYT S LMNIITRIREND



dbx MD{ELVFF(6)
« ROTEHET
— (dbx) next

— stopped in main at line 37 in file “TPCBenchmark.cc”
— 37 char* host = argv[1]
« JAYUSLEUTEALT, F1ET S
o hostiIZIEMBISNDH_EEMERT D
— (dbx) print host

— host = (nil)

— (dbx) next

— stopped in main at line 40 in file “TPCBenchmark.cc”
— 40 cint = cInt_create(host, SERVERPROG,

SERVERVERS, "tcp");
— (dbx) print host

— host = Ox {7859 “ker”
e hostD g A (niNH S OXFEFFEFFf7FHffR50 (- HH T L VA



dbx DELNA(7)
« HELEITZIL—IRAVMIEET S
— (dbx) stop at 53
— (3) stop at “TPCBenchmark.cc’:53
« TPCBenchmark.ccD531TE N TL—IRA U MMIRESINS
« JL—IORAFETEITTS
— (dbx) cont

— stopped 1n main at line 53 in file “TPCBenchmark.cc”
— 53 LoadEnv(argv[2]);
« 531TBZITL—IRAUMIERELTLM=DT, 531TEHTEL
o TL—ORAUFDHEE
— (dbx) status
— (2) stop in main
— *(3) stop at “TPCBenchmark.cc:53

« BAEBRESNTLESTIL—IRAIVIDRTEND
o *MNDNVTWNSIGEMNIRERIELTULNSIERT



dbx MDFELVYA(8)

« JL—ORA+DHEIBR

— (dbx) clear “TPCBenchmark.cc:53

— cleared (3) stop at “TPCBenchmark.cc:53

— (dbx) status

— (2) stop in main

o TL—URAVMDBIRESN-CENTERTES

- BABDOHIZAS

— (dbx) step

— stopped in LoadEnv at line 112 in file

“TPCBenchLib.cc”

- 112 SetParams(database_config_name);
« % (LoadEnv)DHIZAY, =1k




dbx D {ELVFF(9)

— (dbx) step
— stopped in SetParams at line 62 1n file “SetParams.cc”
— 62 tpcdbname = new char[40];
 B§#(SetParams)DHIZ ALY, =1k
. TOTSLOEBIELTNSFHERT
— (dbx) where
— current thread: t@1

— =>[1] SetParams(configFileName = Oxffffffff7ffff85d
"..[tpc-c/tpc.config.3000"), line 62 in "SetParams.cc"

— [2] LoadEnv(database config_name =
Ox e 7ffff85d "../tpc-c/tpc.config.3000"), line 112 in
"TPCBenchLib.cc"
— [3] main(argc = 7, argv = Oxfffffff7ffff538), line 53 In
"TPCBenchmark.cc*
« ABAGIRIAR), line TES in “I7MILBERTRSND
e TLENDONTAEFFIAEEEIELTULNAERR



dbx MLV (10)

« IRTE DREHEL(SetParams) M 53k (TS
— (dbx) stop at “TPCBenchLib.cc:113

— (4) stop at “TPCBenchLib.cc’:113
« SetParamsZMEUHL-T AT S LD RDITEITL—IRAY

-

MIEXTE
— (dbx) cont

— stopped in LoadEnv at line 113 in file
“TPCBenchLib.cc”

— 113 }
« SetParamsMEITEN, 70T T LMEL
« ERDRIATERRD
— (dbx) whatis database config_name

— char *database _config_name;
« database_config_nameldcharZ2 R4/ 2 TH S



dbx MDfELVAF(11)

« TJAUVSLEREFTEITIS
— (dbx) cont
— MQTH =701 (701, 649, 74, 65, 69)
— Rollback =0

— execution completed, exit code iIs 0

« JATSLOETHEMNE S, ELELTLE:
_ETRTY
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